
F u n c t i o n

U n i v e r s a l  L C D T V P D P W a l l M o u n t s

S p e c i f i c a t i o n

*Strong loading up to 80 kgs
  LCD TV,Plasma.

Unit : mm

SOPORTE SP-650

5
9

1

0
0

5
~

0
6

0
2

5

0 0

Be aware of the specification as
first page.

Please choose the thickness of 
solid wall over 50mm.

Please evaluate the wall material 
whether is suitable for installation.

Recommend several persons to
 hold the TV.

Unplug all  the cables off the TV.

66

ITEM

QTY

PART

ITEM

QTY

PART

2 2 2 2 2 2 4

M5X15

ITEM

QTY

PART

4

13

4 4 44 44 4 4

8 9 11  7 12 14 15 16

24Xd8M5X15M4X30 M5X30 M6x15 M8X40 11Xd4M6x30 M8x15

10  6

MAIN PARTS

PARTS FOR 
WALL BRACKETS

PARTS FOR 
TV BRACKETS

17 18

8 8

M6X15

1 2 3 4 5 6 7

6X10 8X10

I n s t a l l a t i o n



U n i v e r s a l L C D T V P D P W a l l M o u n t s

I n s t a l l a t i o n

Ib0008650100K7951

I.

II.

III.

I n s t a l l a t i o n

If bolt is
too long

 C O N C R E T E  W A L L

X4
5

7
1

1

Attention:the hole distance should be different with TV hole.

3
2

Adjustable angle

9

6~10mm

5

5

W O O D E N W A L L

X4

5
7

1

8

WARNING:TV Mounting Arms Must Be Level For Proper Installation.

10

M5X30

M6X15

SELECT

M6X30

M8X15

16

11

+

+

6

16

M8X40

13

7

12

14

M5X15

M4X30++ 16154

7

6

8

7

M6

18+

17+
17+
17+
17+
17+
18+

I n s t a l l a t i o n


	頁面  1
	頁面  2

